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Section - A

Atten:pt all parts. All parts cArrv cqual rnarks. Write

Answer o f, each pafi in short . ( 2x 1 0:2 0 )

(a) What is lineilr progralnming '/

(b) What is meant try a feasible solution of an LI'
problem ?

V/hat is basic solution of an LP prohlern ?

What is rlegeneracy in transportation problems '7

What is rneant by unbalanced transportation

problem ?

(t) What ere assignment problems ? Give two
applicatiolls.

(c)

(d)

(e)

(r)

(F'ollowing Paper ID and Roll No. to be filled in your
Answer Book)

Roll lio.
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G) What is tl*at '7 What irrcr the diffcrent types of
fioats?

(h) Distinguish between PERTand CPM.

ti) What is looping and dengtring in nenvorkdiagrarn ?

fi) Discuss the various co.sts invoived in an inventory

rncdel.

Section - B

Attenrpt any five questions Iiom this section : ( 10x5:30)

2, Salve the iallor,r,ing LP prcblern graphically

N{a.xitnir.e Z - -x ,* 2*,

Sul;.!e:c[ to constraints

(i) ,r, *-i;1:: --1 (iii *0.5*, *r: t2 and Jr1 ,r. < 0

3" 1iseVogei'$ApproximationMethod (VAM) to find initial

hasic ieasible solution to the transportation probletn.
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4. A department ola c+n Lpfin), has five ernpl*,vees rviih tive

iohs to be peqfornred, "fhe tirne (in hoursi that eeuh rriaft

takes t+ perf'orrn each jerb is given in the ef-fectivsness

i::atrix"
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5 " Drarry the netrvork diagram of activities fbr the prqiect :
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Briefty explain the e{ifferent phases of project
xnanagsmeftt,

Solve the g*ltre wir*se payot-f matrix if'given helarv :

Playe r A,

A1

81 82

3 Z
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ts4
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Adlt\L 3 4 2 4

A3 4 2 4 0

A4 0 4 0 E
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A oompany that operatcs tor' 5C *,eeks in a J-'ear is

concerned about its stock ol'copper cable. This costs

Rs .24A a rneter and there is a deurand for 8,000 meters

a week. Each replenishment. costs Rs. 1.050 for

administration And Rs. 1 .650 tor delivetl'. rryhitrc l:olding

costs are estinratecl at25 per rJent of t'alue heiCr e )/ear.

Assuming no shortages are allowed, what is the optirnal

inventory policy for the compan;.' ?

Horv r,vould this analysis cliffer ifthe conlpan)'u'altt to

maxirnize its profits rather than minirnize cost ',' What

is the gross profit if the company sells ttre cable for

Rs. 360 a tneter ?

Define : (i) Cornpetitive ganre (ii) Pa)'off matrix

(iii) Pure and mixed strategies (ir') Saddle point and

(v) Optimal strategies

Section - C

Attempt any two qtlestions fiom this section. ( I 5x2:30)

[0. [Jse the simplex method to solve the following LP

problem :

MaxinizeZ - 3*, + 5X, *-4*,

Subject to constraints

(i) 2*, + 3x, < B (ii) 2.x, + 5x, < 10

(iii) 3*, + 2x, + 4x, < 15 artd x, , -r, x3 > 0

9.
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A ct i,ritie s A B C D E F G H

C pti m ist ic ti rne 5 1B 26 1b 1.) 5 7 7 3

Pessinristic tirrre 10 2? 40 2A 25 L2 I7 9 5

l/i ost iike ly tim e 8 2A 33 18 7A 9 10 8 4

I1. T'he {cl lorving netra, ork

assoLriated with a project

diagram represents activitY

12.

f)etermine :

(a) L.xpected colttpletion time.

(b) Variance of eaclt nctivitl' and critical path.

T'he fotlowing table provides all the necess aty

inJormation on the availability of supply to each

warehouse, the requirement of each market and the unit

transportation cost (in Rs) frorn each rn arehouse to each

market.
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if-

M arket

P a R S Su pp ly

A 6 3 5 4 22

Wa rehouse B 5 9 2 7 15

C 5 7 8 6 I
De mand 7 12 L7 I 45

'rhe shipping clerk of the shipping agency has worked
out the following schedule, based on iris own experience:

12 units fromAto Q, I unit fromAto R., g units fiomA
to s, I5 units fiom B to R, 7 units fionr c to p and I unit
from C to R.

(a) Check and see ifthe clerk has the optirnal schedule.

(b) Find the optimal schedule and minimum total
transport cost.

(c) Ifthe clerk is approached by a carrier of route C to

a who offbrs to reduce his rate in the hope of
getting sonre business, by how, rnuch shoulcl the

rate be reduced before the clerk wculd offer him
the business.
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